
Volkswagen UP Fitting Instructions 

  

Tools you will need:   

• Combi Drill   

• Hole Saw Kit 

• Allen Key Set   

• Centre Punch   

• Stanley Knife (Optional)   

• Tape Measure   

• Marker Pen or Pencil   

  

In your fitting kit you will have:  

• M10 x 30mm Washers (4)   

• M8 x 20 Button Heads (2)   

• M8 x 40 Cap Heads (2) 

• M8 Hex Nuts (2) 

 

1. Remove rear boot floor and side plastics. 

2. Top mounting points of the K-Brace use the OEM shock absorber struts. Remove the nuts and 

install the K-Brace.   

3. With the top mountings in place align and level the K-Brace. Using the bottom hole from the false   

4. Now all aligned work out the measurements on where to cut the carpet and trim. The top is just 

minor cutting around the shocker mounts. Bottom trimming just follow the existing hole for the 

screw and use a hole saw.  

 

5. Reinstall the carpets and trim ensuring there is adequate access to the mounting points.  



6. Finally, refit the K-Brace.   

  

Any questions or additional information about the installation of your K-Brace please do not hesitate 

to contact us through our website.   

Thanks, from everyone here at BAF Motorsport.  


